Video Quiz 7 (104 pts.) Name: ,Z\ EL{

1. (1 pt.) Which of the following functions is NOT one-to-one? LOVT’ZOV\J( AJ

Function A Function B

2. (1 pt.) Find the exact value of sin(sin™*(3.1415)).
—

UG (¢ wot 0 K

/
- doman ok S\
DNE
o . : T
3. (1 pt.)or False: y = sinx is one-to-one in the interval [ ~ g3 5} :

1
4. (1 pt.) True oy = sin~ ' 7 is equivalent to y = —
sin x
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5. (1 pt.) Evaluate sin™'(—0.0289) to four decimal places using a calculator.
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6. (1 pt.) Find arcsin(O),:‘O l
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7. (1 pt.) Find arcsin (\/;): =
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8. (1 pt.) Find sin~! (%); 25
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